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Name Date
Solve each problem.
1.5x7+9=t¢ 2.9x(1+3)=m
T —2x2=k 4. (7 Xx2)+ (@ x99 =w

10.

UNIT 4 LESSON 9

(7 -2)x@B+2)=r 6.8x(12—-7)=v

. Whitney and Georgia are at the snack bar buying
food for their family. Sandwiches cost $4 each.
Salads cost $2 each. How much money will it
cost them to buy 5 sandwiches and 7 salads?

. Lisa put tulips and roses into vases. Each vase

has 12 flowers. The red vase has 7 tulips. The
blue vase has twice as many roses as the red
vase. How many roses are in the blue vase?

Pam has 9 bags of apples. Each bag contains
6 apples. There are 3 bags of red apples and
1 bag of green apples. The rest of the bags
contain yellow apples. How many more
yellow apples are there than red apples?

Clay works on a farm. He packaged eggs into
containers that hold 1 dozen eggs each. He filled
4 containers with white eggs and 5 containers
with brown eggs. How many eggs did Clay
collect? Hint: one dozen eggs = 12 eggs
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